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Q.P. Code : 29759

(3 Hours) " [ Total Marks : 100 (\./QQ
ha)
N.B.: (1) Questionno ! is compulsory. Qo‘
(2) Answer any four question from the remaining five questions. "S\b
A%

l.  Answer the following : 9(30
(a) One line diagram of a three bus system is shown below. Sekigf‘s
impedance of the line is j0.2 pu. Neglect series resistangﬁ&’nd _

shunt admittance. Calculate h I v
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(b) Explain different types of E%g’es in load flow analysis
(c) What are the signiﬁcénc@b load frequency control?
(d) Write down the expregg}bn for FDLF analysis and explain
. O
. 2. (a) Forthenetwork sho iﬁ’thc figure, obtain the complex bus bar voltage 10
at bus 2 at the end rst iteration. Use G.S method. Line impedances
shown in figure w are in p.u. Given:
Bus 1 is gl&&k bus with V =1+j0:
Complexpower at Bus 2 is §,=-5.96+j1.46.
Ma%ﬂmde of Bus 3 voltage is |v,[=1.02
A@’ume: V,*=1.02+j0 and V °=1+j0
N
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(b) Explain different stability analysis and equal area criterion for transient
 stability analysis
3. (a) Develop block diagram representation of load frequency control with
primary ALFC loop of an isolated power system
(b) Plot the dynamic responsé of load frequency controller with and .0
witheut integral controller and explain. AQ’
4. (a) Prove that for economic load dispatch the product of increméntal
cost and penalty factor of each generating unit should be the'same,
(b) A system consists of two plants connected by a tie line ard*a load is
located at plant 2. When 100MW are transmitted frefdd plant 1, a
loss of 10MW takes place on the tie line. Determi e generation
schedule at both the plants and power received bythe load when A
for the system is Rs. 25 per MWhr and the ingé'nental fuel costs
(IC) are given by the equation: <<<</
IC,=0.03P + 17 Rs./ MWhr <</O
IC,=0.06P,+ 19Rs./MWhr Q,O
N
5. (a) Write down the classification of @%er system states
(b) Derive the expression for the trafsmission loss using B- coefficients.
R
6. Write shert note on any two
{) costand 1nchmeQqucost curve of a generating unit
(i) Newton RaphsgvLoad Flow analysis
(i) Power systeo ecurity
&
7. (a) Explainthe gg@q/}mgency analysis in power system
(b) Discuss tl(_];éconcept of power pool in detail.
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